2.7.notebook

Section 2.7

Decimal Operations

Goal: to solve equations
involving operations

October 12, 2017

Simplify:
-14.2 + (-17.6) - _ 3\ g

475:(125) - | 728

Simplify:
7.2(-1.5) - _ 104

-43.29 +(-4.5)

162

Solve:

-9.34 =t-2.75
Y275 43\;5
-5+
x+5\2= 10.9
_5_ _g,{o
X=573
QQ+m=92
T —/2.&
™ :_3.1_/
r-23=-1.7




2.7.notebook October 12, 2017

Solve: The trip odometer on a car
' showed 229.5 miles before a
salesperson left for a sales
12.2t = 9.76 meeting. When she reached her
17N _2.2 destination, the trip odometer
£ 3 read 273.2 miles. How far did
-4 ¢ she have to drive to attend the
'Q\.‘L =l meeting? 3735 229 <.
=42 435

Hwk: pg 105 - 107

#12 - 32 (4th), 37 - 44
all
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